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Тестовые задания  для итогового контроля.
I. Выберите правильный вариант для русского предложения
1. На лекции присутствует много студентов.

a) Many students are present at the lecture.

b) There are many students at the lecture.
2. Есть много учебников по нормальной анатомии.

a) There are many text-books in Human Anatomy.

b) We have many text-books in Human Anatomy.

3. У беспозвоночных животных нет позвоночного столба. 

a) Invertebrate animals don’t have backbone.

b) There is no backbone in invertebrate animals.

II. Найдите глагол во временах Continuous

1. 

a) was placing, 

b) placed, 

c) is placed 
2.

a) joins

b) joining

c) are joining
3.

a) are not included

b) will be including

c) includes
III. Заполните пропуски модальными глаголами
1. Who … describe the bones of the trunk?

a) may

b) can

c) must

2. We … use this drug three times a day.

a) can
b) must
c) may
3. Each type of muscles … perform definite functions.

a) can
b) must

c) may
IV. Найдите прилагательные в сравнительной степени

1. a) shoulder, b) closer, c) thicker 

2. a) greater, b) liver, c) thinner
3. a) better, b) the most difficult, c) less
V. Определите, в каком предложении выделенное слово является сказуемым

1. 

a) The heart is a pump.
b) The heart pumps the blood through the circulatory system.

2. 
a) The heart beats 72 times a minute.

b) The heart beats were weak.

3. 

a) Rest is necessary after hard work.

b) The dark glasses rest my eyes.

VI Найдите правильный перевод

1. Respiratory mechanism

a) механическое дыхание
в) механизм дыхания
с) дыхательная система
2. surrounding tissues
a) тканевое окружение

b) окружающие ткани

c) окружённый тканями

3. blood stream

a) кровотечение
b) кровоток

c) поток крови

VII Подберите синонимы к слову

1. per minute 
a) one minute

b) a minute

c) each minute
2. to participate
a) to occur
b) to take place

c) to happen

3. minute

a) tiny

b) fine
c) great

VIII Выберите предложение с причастием I
1.

a) One characteristic of leucocytes is the lobed appearance of the nucleus. 

b) Fibrin is formed in long, interlacing threads.

c) There is a substance in the blood called prothrombin.
2. 

a) The two factors working together lead to the increase of the blood amount returned.
b) Thus the stroke volume is increased.

c) The heart rate is controlled.

3. 
a) The second factor affecting cardiac output is the stroke volume.

b) They are informed that conserved blood was brought two days ago.

c) Fibrin is derived from fibrinogen.

IX Укажите предложение, где причастие II является определением.

1. 

a) There is a substance in the blood called prothrombin
b) The heart rate is controlled
c) Fibrin is derived from fibrinogen
2.

a) The increased venous return in exercise is brought about in the following manner. 

b) Fibrin is formed in long, interlacing threads
c) We have detected a specific antigen.

3.

a) They are usually caused by poisons of different kinds.

b) A common disease of the kidneys, known as Bright’s disease, includes a number of different conditions.
c) When damaged the glomerular epithelium becomes permeable to the blood colloids.
X Определите значения указанных слов

1. Ulcer is a common condition in any country
a) условие

b) состояние
c) заболевание
2. An emotional stress is a commonly recognized factor.

a) признавать

b) распознавать
c) узнавать
3. Meat and alcohol are to be forbidden.

a) разрешать

b) запрещать

c) отменять
